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EXAMINATION 2016, GRADE 8 Model Paper
MATHEMATICS PART — B (Subjective Type .
(Subj ype) Version 2
Part-A: 48 Marks, Part-B: 52 Marks, Total: 100 Marks
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General Instructions: el
1) Read carefully and attempt all questions. U/ J’;,wyrﬁnufgc_/f(l
2) A guestion can consist of one or more parts. -Lgtﬁm}’b LU ki L LIl L1 (2
3) Use blank space given below each question to writiee answer. No additional page will be given
for writing. Kb #0 L LA I L s 2 Bl 68 L (B

4) Use black/blue ink for writing. Use of lead pencils not allowed.
<Lau.7}o]lg!g}/dl:-p!£ﬂﬁ«dfdlrpﬂ(él}"u J:/dl(ééé(4

Total Marks: 52 Part-B (Open Ended Questions) Total Timed hour 30 minutes

Q.No.33. (a) If A={1,2,4,5,6}, B={3,4,5,6} and C={3,8,9,10} then show that (5)
AN(BNC) = (ANB)NC

AN(BNC) = (ANB)NC S/ =t 7 C={6,7,8,9,10}» B={3,4,5,6}, A={1,2,4,5,6)
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(b) Find the square root of 10 upto 2 decimal place (5)
_Q"/rﬁwjlgj,:/lﬁ’l?}'lfz §10

Q.No.34.(a)Evaluate the following and express the answer intdecimal number system. 5)

-u:“vutrwjdwd/lfﬂf.,mnu/‘j’/(}“sg/p
(1234) + {335 - (10113

(b) Ayesha and Meerab started a business with Rs.A800 and Rs.180000 respectively. (5)
After one year they earned profit of Rs.55000. Findhe share of each one in the profit

6Ll et B an B &3/550000F Lot LW Fegss180000.5 &5,150000 27, A6 Lii e 2 Hi
g o

Q.No. 35. (a) Find two solutions for the equatior+5y=6 (4)
-u:/(r}”gf?uﬁ X+5y=6 c=tsl~
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(b) The price of 2 books and 4 pencils is Rs.160 W the price of 4 such books and 1 (8)
pencil is Rs.215. Find the price of one book and erpencil.

e d S LU e 8215228 F 1 siuil 4 GG g s 160 =i SUtidmusi2

Q. No0.36 (a) Construct a rhombus ABCD when wﬁ =4cmand mAC =6cm. (5)
m AC =6cm.s mAB =4cm & ABCDy i

(b) Construct a kite ABCD where mAB =3cm, mBC=5cmand length of its longer (5)
diagonal = mAC =7cm.
dU ey =mAC =7cmsmBC=5cm, mAB =3cm £/t ABCD_& (i
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Q.No: 37. (a) The height of a conical tent is 7 met and radius of its base is 6 metre. Find| (5)
the volume of air present in the tent. (r = % )
(= g )-J"/ph”ﬁkﬁnuf4'_9/‘{6‘}1;/(;,«&8'/;!}{7(5[3:6/4'u";}...{l
b) Find the mean of the following frequency table.
-q/r)*‘m@l;gfdwé;ﬁé’tzég;é (5)
Frequency 2 2 3 S 4 1
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